Macierze sztywnosci elementéw kratownicy
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Element "4" - blok macierzy sztywnoSci

Lx := X4 =6.85714m Ly :=1m = 1.000000m

MLMzz\/(Lx)2+ (Ly)2 = 6.929676m
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Element "5" - blok macierzy sztywnoS$ci
L= 1m = 1.000000m Ly =Y3-5m=-6.111111m
AIA_M:=\/(LX)2+(Ly)2=6.192389m
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Element "6" - blok macierzy sztywnoSci
5
LX = X4—5m = 1.85714m Ly= ime2m = = 2.111111m
NIW::\/(LX)2+(Ly)2:2.81172m
N EA | (Lx)? Lx-Ly | (2948 3351] KN
Element "7" - blok macierzy sztywnosci
LX:=5m=5m Ly =Y3=-1.111111m
NIW::\/(LX)2+(Ly)2:5.121969m
N EA | (Lx)? Lx-Ly | (3535 —786] KN
(L)° [Lx-Ly (Ly)? —786 175 ) M



